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5Lwh® +10 Lweh? + 24 D12(21+3e)h=12D13(4e +31)

5 0.500 0.380 h®+ 10 0.500 0.380 2.584 h?+24 0.150 1.200% (2 1.200+ 3 2.584) h
=12 0.150 1.200° (4 2.584+3 1.200)
0.950 h*+ 4.910 h? + 52.634 h = 43.352

h
h= 0.762 (m)

h

) 12H b 3.53
YO 2D " Bh-21)+5Lwh? Y 1,700 (kgf/m°)

12 154 0.762
12 0.150 1.440 (3 0.762-2 1.200) + 5 0.500 0.380 0.762 "2

= 5498.029 wyKp= 6001 OK.
1.200m 158

11.28kg 4 (12kg)



GL

:R=0.800m
:r=0.400 m
:d =0.089 m
:a=0.180m
: b =0.600 m
: h0=3.200 m
: h1=2.500 m
:h2=1.250 m

PO = 1/16><40 2>1.2><TT>< 0.400 2
P1 = 1/16>40 2>1.2>7T>< 0.400 ?
P2 = 1/16><40 2><0.7><0.089>=<3.
P3 =1/16>402>1.2><0.180><0.

h2

60 (kgf)
60 (kgf)
20 (kgf)
13 (kgf)

M = (PO + P1)><(R/2 + h1)+ P2>1/2>h0 + P3><h2

(60.3 + 60.3)>(0.400 + 2.500)+20.0><1/2>3.200 + 13.0><1.250

398 (kgf)

154 (k)

GL.





